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Appendix 2 GAMS a— KA 7H5NDH)

()  <<SKIP>>[TE W L 72847
T ANCFFR A IR S

*//11]] SETS /11///

SETS

AC global set (SAM accounts and other items)
/

*factors

LAB labor

CAP capital

*institutional accounts including transfer
accounts

ENT non-financial corporation

FENT financial corporation

GOV government

NPO non-profit organizations serving
for households

HH households inc. unincorporated
businesses

TAR import tariff (All zero in this
model)

YTAX direct taxes (substituted for CTR
in this model)

STAX indirect taxes

PRP property income

CTR current transfer

*savings accounts for institutions

CAPCON consumption of fixed capital

S-ENT

S-FENT

S-GOV

S-NPO

S-HH

CAPTR capital transfer

INVINT  inventory investments (fixed in this
model)

INVFIX  fixed investment

FIN S-I balance

* Production activity accounts (generation of
value added)

IND-A industry

AGR-A agriculture

CONS-A  construction

TRD-A trade transport communication

OTM-A  other manufacturing

HOU-A housing

SRV-A services

* Commodities

IND-C industry

AGR-C agriculture

CONS-C  construction

TRD-C trade transport communication
OTM-C other manufacturing

HOU-C housing

SRV-C services

* Rest of world
ROW rest of world
TOTAL total account in SAM /

*ACNT for SAM total cells

ACNT(AC) all elements in AC except total

A(AQ) activities

/ IND-A, AGR-A, CONS-A, TRD-A,
OTM-A, HOU-A, SRV-A/
commodities

/ IND-C, AGR-C, CONS-C, TRD-C,
OTM-C, HOU-C, SRV-C/
exported commodities

/IND-C, AGR-C, CONS-C, TRD-C,
OTM-C, SRV-C/

CNE(C)  non-exported commodities

/HOU-C/
CM(C) imported commodities
/IND-C,AGR-C,CONS-C,TRD-C,0TM-

C,HOU-C,SRV-C/

commodity excluding srv-c for

fisim calc

/IND-C,AGR-C, CONS-C, TRD-C,
OTM-C, HOU-C/

C(AC)

CE(C)

CWS(C)

F(AC) factors / LAB, CAP/
GP(AC)  government and npo

/ GOV, NPO/
I(AC) institutions

/ ENT, FENT, GOV, NPO, HH, ROW /
ID(I) domestic institutions
/ ENT, FENT, GOV, NPO, HH/
[TH(ID) inst. exc. hh row
/ENT,FENT, GOV ,NPO/
IWG(I) inst. exc. gov
/ENT, FENT, NPO, HH, ROW /
IHF{IH) inst. exc. HH ROW FENT
/ ENT, GOV, NPO /
households /HH/
saving accounts of institutions

H(ID)
S(AC)
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/ S-ENT, S-FENT, S-GOV, S-NPO,
S-HH, ROW /
domestic saving accounts

/ S-ENT, S-FENT, S-GOV, S-NPO,
S-HH/ ;

SD(S)

ALIAS(AC,ACP); ALIAS(C,CP);
ALIAS(F,FP); ALIAS(LIP);

ALIAS(SD,SDP);

ACNT(AC)=YES; ACNT('TOTAL")=NO;

ALIAS(ACNT,ACNTP);

*/////| PARAMETERS //////

PARAMETERS

ad(A) efficiency parameter in the
production fn for a

alpha(F,A) share of value-added to factor fin
activity a

aq(C) Armington function shift
parameter for commodity ¢

at(C) CET function shift parameter for

commodity ¢

share of hh. cons. spend. on

commodity ¢

cpi consumer price index

beta(C,H)

cwts(C) weight of commodity ¢ in the CPI

deltag(C)  Armington func. parameter for
commodity ¢

deltat(C)  CET function share parameter for
commodity ¢

ica(C,A)  qt. of ¢ as intermediate input per
unit of act. a

pwe(C) export price for ¢ (foreign
currency)

pwm(C)  import price for ¢ (foreign
currency)

qg(C,IIHF) ITHF(Institutions exc. HH & FENT
demand for c

ginvbar(C) base-year gnty of invest. dem. for
commodity ¢

ginvint(C) gnty of inventory investment for
commodity ¢

rhoq(C) Armington function exponent for
commodity ¢

rhot(C) CET function exponent for
commodity ¢

shry(I,F)  share for household h in the
income of factor f

te(C) export subsidy rate for commodity

c
theta(A,C) yield of output ¢ per unit of
activity a (all 1)
imp. tariff rate for com. ¢ (0 for
this model)

tm(C)

tq(C) rate of sales tax for commodity ¢

ty(ID) rate of income tax for HH (0 for
this model)

vaica(A)  value added to activity level ratio

gkconsr(A) fixed capital consumption rate per
QF(CAP A)

fisimr(A)  fisim per QA(A)

intbyir(SD) inventory investment share of
institutions

finvbyir(SD) fixed investment share of
institutions

ctrpayr(ID) curr transfer payable ratio to
income

ctrrowp curr tran. payable of ROW in dom.
curr.(FIX)

ctrrec(IWG) curr tran. receivable of Inst. exc.
GOV (FIX)

prprec(I)  property income receivable fixed

prppay(I) property income payable fixed

captrrec(S) capital transfer receivable fixed
captrpay(S) capital transfer payable fixed
capconr(SD) share of each inst. in total cap.

cons.

othsitem(SD)sav-Inv foreign finance item
(fixed) ;

*/1///1 VARIABLES //////

VARIABLES

E(ID) expenditures of institutions

EXR exchange rate (dom. curr. per unit
of for. curr.)

FSAV foreign saving (dom. curr. )

IADJ investment adjustment factor

MPS(H)  marginal (& avg.) propensity to
save for hh.

PA(A) price of activity a

PD(C) domestic price of domestic output
c

PE(C) export price for ¢ (domestic
currency)

PM(C) import price for ¢ (domestic
currency)

PQ(C) composite commodity price for ¢

PVA(A)  value-added price for activity a

PX(C) producer price for commodity ¢

QA(A) level of activity a

QQVA(A) net value added exc. fisim indtax
capcon

QD(C) quantity sold domestically of
domestic output ¢

QE(C) quantity of exports for commodity
c

QF(F,A)  quantity demanded of factor f from
activity a
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QFS(F) supply of factor f
QH(C,H) gnty. consumed of com. ¢ by
household h

QINT(C,A) gnty of com. ¢ as intermediate
input to act. a

QINVFIX(C)qnty of investment demand for
commodity ¢

QM(C) qnty of imports of commodity ¢
QQ(O) gnty of absorption
QX(©) gnty of domestic output of

commodity ¢

WALRAS dummy variable (zero at
equilibrium)

WE(F) average] price of factor f

WEDIST(F,A) wage distortion factor for
factor f'in activity a

YF(LF) transfer of income to household h
from factor f

Y(ID) revenue of institutions

YH(H) income of household

EG government expenditure for
convertibility

YG government revenue for
convertibility

FFISIM(A) FISIM for each activity all fixed

TFISIM  FENT pay the amount of fisim to
buy SRV-C

NKCONS(A) Nominal capital consumption
for activity

CTRPAY(ID) curr trans. payable (fixed
ratio)

CTRGOVR curr transfer receivable of GOV
(residual)

QINVBYI(SD) fixed investment by institution
(quantity term)

NINVINT total nominal inventory investment
NINVFIX total nominal fixed investment
NS(SD) net saving

FINBL(SD) net lending ;

*////// EQUATIONS //////
EQUATIONS

*>>>> declaration <<<<

*==== Price Block ====

PMDEF(C) import price for commodity ¢
(dom. curr.)

PEDEFF(C) export price for commodity ¢
(dom. curr.)

ABSORB(C)  absorption for commodity ¢

OUTVAL(C) output value for commodity ¢
PADEF(A) price for activity a
PVADEF(A)  value-added price for activity

*==== Production and Commodity Block ====

PRODFN(A)  Cobb-Douglas

FACDEM(F,A) demand for factor f from
activity a

INTDEM(C,A) intermed. Dem. for com. ¢
from activity a

OUTPUTFN(C) output of commodity ¢

NKCONSF(A) fixed capita consumption

FFISIMF(A)  calcu. of fisim by activity

TFISIMF summation of FFISIM(A)

ARMING(C)  composite supply (Arm. func.
for com. ¢)

IMPDOMRAT(C) imp.-dom. demand
ratio for commodity ¢

CET(C) output transform. func. for
commodity ¢
EXPDOMRAT(C) exp.-dom. supply

ratio for commodity ¢

CETNE(C) output for non-exported
commodity ¢

COMEQA(CWS) market equilib.
condition for ¢

COMEQB for SRV-C because of FISIM

NOEX(C) fill QE with 0 for Non-export sec

*==== Institution Block ====

FACTTRANS(LF) transfer of income

from factor f to HH

market equilibrium condition

for factor £

HHDINC(H)  income of household h

HHDEM(C,H) cons. dem. for HH and
commodity ¢

HHEXP(H) households expenditures

INVDEM(C) investment demand for
commodity ¢

ENTREV  corporation revenue

ENTEXP corporation expenditures

FENTREV financial corporation revenue

FENTEXP financial corporation expenditures

FACTEQ(F)

NPOREV NPO revenue

NPOEXP NPO expenditures

GOVREV government revenue

GOVEXP government expenditures

CTROUT(D) current transfer from
institution

CTRGOVRF  define current transfer
receivable of GOV

*==== Domestic Institutions Investment
Saving Block ====

NINVINTF total nominal inventory
investment
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NINVFIXF total nominal fixed investment
NSAVENT net saving of ENT
NSAVFENT  net saving of FENT
NSAVGOV net saving of GOV
NSAVNPO net saving of NPO
NSAVHH net saving of HH
SAVINV(SD) saving-investment balance
FIN financial investment balancing
*==== System Constraint Block ====

BOP Balance of Payments
PNORM price normalization

*>>>> description of equations <<<<

*==== Price Block ===
PMDEF(C)$CM(C)..
PM(C) =E= (1 + tm(C))*EXR*pwm(C);
PEDEFF(C)$CE(C)..
PE(C) =E= (1 - te(C))*EXR*pwe(C);
ABSORB(C)..PQ(C)*QQ(C) =E=
(PD(C)*QD(C)+(PM(C)*QM(C)$CM(
C)*(1 +1tq(C));
OUTVAL(C)..
PX(C)*QX(C)Y+HPM(C)*QM(C))$CM(C)+
(PD(C)*QD(C)+
(PM(C)*QM(C))$CM(C))*tq(C)
=E=
PQ(C)*QQ(C) + (PE(C)*QE(C))$CE(C);
PADEF(A)..
PA(A) =E=SUM(C,PX(C)*theta(A,C));
PVADEF(A)..
PVA(A) =E=
PA(A) -SUM(C, PQ(C)*ica(C,A))
-WF('CAP")*WFDIST('CAP',A)*qkcons
r(A)*QF('CAP',A)/QA(A)
-PQ('SRV-C")*fisimr(A);

*==== Activity and Commodity Block ====
OUTPUTFN(C)..
QX(C) =E= SUM(A, theta(A,C)*QA(A));
PRODFN(A)..
QA(A) =E= ad(A)*PROD(F,
QF(F,A)**alpha(F,A));
INTDEM(C,A)..
ica(C,A)*QA(A) =E= QINT(C,A);
NKCONSF(A).. NKCONS(A)=E=
QF('CAP',A)*qkconsr(A)*WF('CA
P)Y*WFDIST('CAP',A);
FFISIMF(A)..
fisimr(A)*QA(A)*PQ('SRV-C")
=E= FFISIM(A);
TFISIMF..

TFISIM =E= SUM(A, FFISIM(A));
FACDEM(F,A)..

WF(F)*WFDIST(F,A) =E=

alpha(F,A)*PVA(A)*QA(A)/QF(F,A);
ARMING(C)$CM(C)..

QQ(C) =E=aq(C)*
(deltaq(C)*QM(C)**(-rhoq(C))
*+(1-deltaq(C))*QD(C)**(-rhoq(C)) )**
(-1/thog(C));

IMPDOMRAT(C)$CM(C)..

QM(C)/QD(C) =E= (PD(C)/PM(C)) *
(deltaq(C)/(1-deltaq(C)) y**(1/(1 +
thog(C));

CET(C)SCE(C)..

QX(C) =E=
at(C)*(deltat(C)*QE(C)**rhot(C)
+(1-deltat(C)) *QD(C)**rhot(C) )
** (1/rhot(C));

EXPDOMRAT(C)$CE(C)..

QE(C)/QD(C) =E=

( PE(C)/PD(C)*(1-deltat(C))/deltat(C) )

** (1/(rhot(C)-1));

CETNE(C)$CNE(C).. QX(C)=E=QD(C);
NOEX(C)$CNE(C).. QE(C) =E=0;
OMEQA(CWS)..

QQ(CWS) =E=SUM(A,QINT(CWS,A))

+SUM(H,QH(CWS,H))

+SUM(IIHF,qg(CWS,ITHF))

+QINVFIX(CWS)+qinvint(CWS);
COMEQB.. QQ('SRV-C')=E=

SUM(A, QINT('SRV-C',A))

+SUM(H, QH('SRV-C',H))

+SUM(IIHF, qg('SRV-C', IIHF))

+TFISIM/PQ('SRV-C")

+QINVFIX('SRV-C")

+qinvint('SRV-C");

*==== Institution Block ==—==
FACTEQ(F)..
SUM(A, QF(F,A)) =E= QFS(F);
FACTTRANS(LF)..
YF(LF) =E=shry(LLF)* SUM(A,
WF(F)*WFDIST(F,A)*QF(F,A));
HHDINC('HH)..
Y('HH') =E= SUM(F, YF('HH',F)) +
prprec('HH'") + ctrrec('"HH');
HHDEM(C,H)..
QH(C,H) =E= beta(C,H) * (1-MPS(H))*
((1-ty(H))*(Y(H)-CTRPAY (H)-
prppay(H))) / PQ(C);
HHEXP(H)..
E(H) =E= SUM(C,QH(C,H)*PQ(C)) +
prppay(H)
+ CTRPAY(H) +ty(H)*Y(H);
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GOVREV..

Y('GOV'") =E= SUM(F, YF('GOV'F)) +
SUM(ID,ty(ID)*Y (ID))+prprec('G
OV")+CTRGOVR

+ SUM(C,
tq(C)*(PD(C)*QD(C)+(PM(C)*Q
M(C))$CM(C)))

+ SUM(C$CM(C),
tm(C)*EXR*pwm(C)*QM(C))

+ SUM(CS$CE(C),
te(C)*EXR*pwe(C)*QE(C));

GOVEXP..

E('GOV'") =E= SUM(C, PQ(C)*qg(C,'GOV"))
+prppay('GOV")

+ CTRPAY('GOVY;
ENTREV..

Y('ENT') =E= SUM(F, YF('ENT'F)) +

prprec('ENT")+ ctrrec('ENT");
ENTEXP..

E(ENT') =E= prppay('ENT") +
CTRPAY('ENT') +
ty(ENT")*Y(ENT");

FENTREV.. Y('FENT')=E=
SUM(F, YF('FENT',F)) +
prprec('FENT")

+ ctrrec('FENT') + TFISIM,;

FENTEXP..

E(FENT'") =E=

prppay('FENT")+CTRPAY('FENT")

+ ty(FENT)*Y('FENT") + TFISIM;

NPOREV..

Y('NPO'") =E= SUM(F, YF('NPO',F)) +

prprec('NPO")+ ctrrec('NPO');
NPOEXP..

E('NPO") =E= SUM(C, PQ(C)*qg(C,'NPQO"))
+ prppay('NPO')+
CTRPAY('NPO') +
ty('NPO")*Y('NPO");

CTROUT(ID)..
CTRPAY(ID) =E= ctrpayr(ID)*Y (ID);
CTRGOVREF..

CTRGOVR =E=SUM(ID,CTRPAY(ID))

+ctrrowp -SUM(IWG, ctrrec(IWQ));

*== Domestic Saving-Investment Accounts ==
NSAVENT..

NS('S-ENT'") =E= Y('ENT")-E('ENT");
NSAVFENT..

NS('S-FENT'") =E= Y('FENT")-E('FENT");

NSAVGOV..

NS('S-GOV') =E= Y('GOV")-E('GOV");
NSAVNPO..

NS('S-NPO'") =E= Y('NPO")-E('NPQO");
NSAVHH.. NS('S-HH'") =E= Y('"HH")-E('HH");

NINVINTF..
NINVINT =E= SUM(C, qinvint(C)*PQ(C));
INVDEM(C)..
QINVFIX(C) =E= qinvbar(C)*IADJ;
NINVFIXEF..
NINVFIX =E=
SUM(C, QINVFIX(C)*PQ(C));
SAVINV(SD)..
FINBL(SD) =E=
NS(SD) + capconr(SD)*SUM(A,
NKCONS(A))
+ captrrec(SD) -
finvbyir(SD)*NINVFIX
- intbyir(SD)*NINVINT - captrpay(SD)
- othsitem(SD);
FIN..
SUM(SD,FINBL(SD))+ FSAV =E= 0;

*==== Balance of Payments =====
BOP.. SUM(C$CM(C), pwm(C)*QM(C)) +
ctrrec(‘(ROW')/EXR
+ prprec('ROW'/EXR +
captrrec('(ROW'/EXR
+ SUM(SD,othsitem(SD)/EXR)
=E=
SUM(CS$CE(C),
pwe(C)*QE(C))+prppay(ROW')/E
XR
+captrpay('ROW')/EXR+FSAV/EXR +
WALRAS;

*==== Price normalisation ====
PNORM.. SUM(C, PQ(C)*cwts(C)) =E= cpi;

*/////l MODEL //////
MODEL CGES5 Open-economy model /ALL/,
CGES.ITERLIM=10000;

*/////] Social Accounting Matrix //////

TABLE SAM(AC,ACP) social accounting
matrix

<<SKIP>>

*////// Assignments for Parameters and
Variables //////

*////// Or Calibration //////

PARAMETERS

*>>>> declaration <<<<

*The following parameters are used

*to define initial value of model variables.
EO(ID), EGO, EXRO0, FSAVO0, IADIJO,
MPSO(H), PAO(A),PD0O(C),

PEO(C), PMO0(C), PQO(C), PVAO(A), PX0(C),
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QAO(A), QDO(C),QE0(C), QFO(F,A), QFSO(F),
QHO(C,H), QINTO(C,A),INVFIX0(C),
QMO(C), NKCONSO(A), NINVINTO,
NINVFIX0,QQ0(C), QX0(C), WFO(F),
WEDISTO(F,A), FFISIMO(A), TFISIMO,
YFO(LF), YO(ID), YHO(H), YGO,
CTRRECO(ID), CTRPAY(O(ID),
NSO0(SD),FINBLO(SD), CTRGOVRO,
WALRASO ;

*>>>> description of parameters <<
*== Factor Employment and Factor Prices ==
PARAMETERS

labor(A)  quantity of labor employed by
activity

wfa(F,A) wage for factor fin act. a ( for
calibration)

costgap(F,A) for checking ;

* Factor employment and supply *

labor(A) = SAM(LAB'"A);
QFO(LAB',A) = labor(A);
QFO('CAP',A) =SAM('CAP'A);
QFSO(F) = SUM(A, QFO(F,A));

* computing activity-specific wage *
wfa(F,A) =SAM(F,A)/QFO(F,A);
*computing average wage *
WFO(F)= SUM(A, SAM(F,A)) / SUM(A,

QFO(F,A));
* computing wage distortion factors *
WFDISTO(F,A) = wfa(F,A) / WFO(F);
*checking calibration *

costgap(F,A) = WFO(F)*

WEFDISTO(F,A)*QFO0(F,A) - SAM(F,A);

*=====Price Block =====

PARAMETERS

sigmaq(C) elasticity of subst. bt. dom goods
and imports for ¢

sigmat(C) elasticity of transf. bt. dom sales
and exports for ¢ ;

EXRO =1;

PAO(A) =1,

PDO(C) =1;

PEO(C) =1;

PMO(C) =1,

PX0(C) =1;

PVAO(A) = SUM(F,SAM(F,A))/

(SAM(A, TOTAL')/PAO(A));
tq(C) = SAM(STAX',C)/ (SAM('TAR',C)+
SAM(ROW',C)+SUM(A,SAM(A,C))
-SAM(C, ROW"));

PQO(C)  =1+1tq(C);
QAO(A)  =SAM(TOTAL', A) /PAO(A);
QDO(C) = (SUM(A,SAM(A,C))-
SAM(C,ROW"))/PDO(C);
QEO(C)  =SAM(C,ROW") / PEO(C);
QMO(C) = (SAM(ROW',C) +
SAM('TAR',C)) / PMO(C);
QQ0(C) = (SAM(TOTAL'C) -
SAM(C,'ROW"))/PQO(C);
QX0(C)  =SUM(A, SAM(A,C)) / PX0(C);
ica(C,A) = (SAM(C,A)/ PQO(C)) / QAO(A);

theta(A,C) = (SAM(A,C)/ PX0(C))/ QAO(A);
vaica(A) = (SAM('LAB'A)+
SAM('CAP'A))/SAM('TOTAL"A);

te(C) =0;

pwe(C) =PE0(C) / (1 +te(C)*EXRO0);

tm(C)$CM(C) =SAM(TAR',C)/SAM
('ROW',0);

pwm(C)$CM(C)=PMO(C) / (EXRO *
(1+tm(C)) );

*===Production and Commodity Block ===
QINTO(C,A) = SAM(C,A)/PQO(C);
alpha(F,A)= AM(F,A)/SUM(FP, SAM(FP,A));
ad(A)= QAO0(A) / PROD(F,

QFO(F,A)**alpha(F,A));
sigmat(C) = 2.0;
sigmaq(C) =0.7;
rhot(C) = 1/sigmat(C) + 1;
rhoq(C) = 1/sigmaq(C) - 1;

deltat(C)$CE(C) =1 / ( 1+(PDO(C)/PE0O(C))*
(QEO(C)/QDO(C))**(rhot(C)-1) );
at(C)$CE(C) = QX0(C)
/(( deltat(C)*QEO(C)**rhot(C)
+
(1-deltat(C))*QDO(C)**rhot(C) )
** (1/rhot(C)));
deltaq(C)$CM(C) =1/ (1 + (PDO(C)/PMO(C))*
(QDO(C)/QMO(C)) ** (1+1hoq(C)) );
aq(C)$CM(C)  =QQO(C)/
((deltaq(C)*QMO(C)**(-rhoq(C))
*+(1-deltaq(C))*QDO(C)**(-rhoq(C)))**
(-1/thog(C)));
fisimr(A) =(SAM('FENT'A)
/PQO('SRV-C"))/QA0(A);
FFISIMO(A) = SAM('FENT" A);
TFISIMO = SAM('SRV-C',FENT");
gkconsr(A)=SAM('CAPCON"A)/
SAM('CAP'A);
capconr(SD) =SAM(SD,'CAPCON") /
SAM('TOTAL',/CAPCON";
NKCONSO0(A) =SAM('CAPCON'A);
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EGO =
SAM(TOTAL',/GOV')-SAM('S-G

OV'/GOV";
QHO(C,H) = SAM(C,H)/PQO(C);
YFO(LF) =SAM(LF);
YGO = SAM('GOV', TOTAL');
YHO(H) =SAM(TOTAL'H);

EO(ENT') =SAM(TOTAL'ENT')
-SAM('S-ENT',;ENT");
EO(FENT') =SAM(TOTAL',FENT")
-SAM('S-FENT', FENT');
EO(GOV'") =EGO;
EO(NPO') =SAM(TOTAL''NPO')
-SAM('S-NPO'/NPO");
=SAM('TOTAL''HH)
-SAM('S-HH',HH');
YO(ENT') =SAM(TOTAL',ENT');
YO(FENT') = SAM('TOTAL',FENT');
YO(GOV') = YGO;
YO(NPO') =SAM(TOTAL'/NPO');

EO('HH')

YO(HH') =SAM(TOTAL,HH');
beta(C,H) =SAM(C,H)/ SUM(CP,
SAM(CP,H));

qg(C,IIHF) = SAM(C,IIHF) / PQO(C);

shry(LF) = SAM(LF) / SAM('TOTAL', F);

ty(ID) = SAM('YTAX'ID) /
SAM(TOTAL!',ID);

MPSO(H) = SAM('S-HH"H)/

(SAM(H, TOTAL")-SAM('PRP' H)

-SAM('YTAX',H)-SAM('CTR',H));
ctrrec(IWG) = SAM(IWG,'CTR");
ctrrowp =SAM('CTR',)ROW");
CTRGOVRO =SAM(GOV','CTR");
CTRRECO(ID) =SAM(D,'CTR");

ctrpayr(ID) = SAM('CTR',ID)/ YO(ID);
CTRPAYO(ID) = ctrpayr(ID)*YO(ID);
prprec(l) = SAM(I,'PRP");

prppay(I) = SAM('PRP'I);

*==== [nvestment-Saving =====

captrrec(S) = SAM(S,'CAPTR");
captrpay(S) = SAM('CAPTR',S);
qinvint(C) = SAM(C, 'INVINT") / PQO(C);
intbyir(SD) = SAM(INVINT',SD)/
SAM('INVINT','TOTAL");
NINVINTO = SAM('TOTAL','INVINT");
IADJO =1;
ginvbar(C) = SAM(C, INVFIX") / PQO(C);
finvbyir(SD)=SAM('INVFIX',SD)/
SAM('INVFIX', TOTAL');
QINVFIX0(C)= SAM(C, 'INVFIX'") / PQO(C);
NINVFIX0 = SAM(INVFIX','TOTAL");
NSO('S-ENT") =SAM('S-ENT','ENT");
NSO('S-FENT") = SAM('S-FENT',')FENT");

NSO('S-GOV") = SAM('S-GOV"GOV";
NSO('S-NPO') = SAM('S-NPO',NPO");
NSO('S-HH') = SAM('S-HH',HH");
othsitem(SD)= SAM(ROW', SD)

- SAM(SD, ROW");
FINBLO(SD)= SAM(FIN',SD);
FSAVO  =SAM(FIN',ROW");

*= gystem constraints and price normalisation =
WALRASO =0;

cwts(C) = SUM(H, SAM(C,H)) /
SUM((CP,H), SAM(CP,H));
cpi = SUM(C,cwts(C)*PQO(C));

*////// Initialisation ////// <<SKIP>>

*////// Selecting Closures //////

*== Saving - Investment Balance Closure ==
SCALAR

SICLOS  saving-investment closure /1/
*select 1or2

*if SICLOS = 1, saving is investment driven
*1f SICLOS =2, investment is saving-driven;

IF (SICLOS EQ 1,

* Investment-driven saving: MPS flexible,
* permitting the saving value to adjust.
IADJ.FX  =IADJO;

MPS.LO(HH') =-INF;

MPS.UP('HH') = +INF;

MPS.L('HH") =MPSO(HH"); );

IF (SICLOS EQ 2,

* Saving-driven investment:IADJ flexible
* investment quantities and value to adjust.
MPS.FX(H) = MPSO(H);

IADJ.LO = -INF;

IADJ.UP = +INF;

IADJ.L =1ADJO; ),

*==== Factor Market Closure ====

* For each factor, fix (A + 1) quantity and/or
price variables

SCALARS
CAPCLOS
*select 1 or 2
*if 1, capital is mobile and fully employed
*1f 2, cap is act.-specific and fully employed

closure for capital market /2/

LABCLOS
*select 1 or 2
*if 1, labor is mobile and fully employed
* if 2, labor is mobile & unemp. (fixed wages);

closure for labor market /1/
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IF (CAPCLOS EQ 1,

*Capital is fully emp. & mobile.
*WF('CAP') is the market-clear variable
*for the unified capital market.
WEDIST.FX('CAP',A)=WFDISTO('CAP',A);
WF.LO('CAP") =-INF;
WF.UP('CAP') =+INF;

WF.L(CAP") = WFO('CAP";
QF.LO('CAP',A)= -INF;
QF.UP('CAP'A)= +INF;
QF.L('CAP',A) = QFO0('CAP'A);
QFS.FX('CAP') = QFSO('CAP"););

IF (CAPCLOS EQ 2,

*Capital is fully employed and activity-specific.

*WFDIST('CAP',A) is the market-clearing var.
* one for each segment of the capital market.
WEFDIST.LO('CAP',A) =-INF;
WFDIST.UP('CAP',A) =+INF;
WFDIST.L('CAP',A)= WFDISTO('CAP',A);
WEF.FX('CAP") = WFO('CAP");
QF.FX('CAP',A) = QFO0('CAP".A);
QFS.FX('CAP") = QFSO0('CAPY;);

IF (LABCLOS EQ 1,

*Labor is fully employed and mobile.

* WF('LAB') is the m.-c. varia. for the unified
* capital market.

WEFDIST.FX(LAB',A)= WFDISTO('LAB',A);
WF.LO('LAB') =-INF;

WF.UP('LAB') = +INF;

WF.L(LAB') = WFO(LAB);
QF.LO(LAB',A)= -INF;

QF.UP('LAB',A)= +INF;

QF.L('LAB',A) =QFO0('LAB"A);
QFS.FX(LAB') = QFSO('LAB"); );

IF (LABCLOS EQ 2,
*Labor is unemp. & mobile. For each activity,

*WFDIST('LAB',A)*WF('LAB") is
*fixed.QFS('LAB') is the market-clearing
*variable for the unified labor market.
WEDIST.FX('LAB',A) = WFDISTO('LAB',A);
WE.FX('LAB") = WFO0(LAB");
QF.LO('LAB',A)= -INF;
QF.UP('LAB',A)= +INF;

QF.L('LAB',A) =QFO0(LAB'A);
QFS.LO('LAB') = -INF;

QFS.UP('LAB') =+INF;

QFS.L(LAB') =QFSO(LAB"); );

*===== Foreign Exchange Market ======
SCALAR
ROWCLOS
*Select 1 or 2
*if ROWCLOS = 1, exchange rate is flexible
*if 2, foreign savings is flexible ;

rest-of-world closure /2/

IF (ROWCLOS EQ 1,
* For. sav. fixed. A flexible exr. clears
* the current a/c of the balance of payments.

FSAV.FX =FSAVO;
EXR.LO =-INF;
EXR.UP = +INF;
EXR.L =EXRO; );
IF (ROWCLOS EQ 2,

* The exr is fixed. Flexible foreign savings
* clears the current a/c of the bop

EXRFX = EXRO;
FSAV.LO = -INF;
FSAV.UP = +INF;
FSAV.L =FSAVO0; );

R
* RPORT SETUP AND BASE REPORT *
R
<<SKIP>>
*END

-53-



